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Единый государственный экзамен 

по АНГЛИЙСКОМУ ЯЗЫКУ 

Инструкция по выполнению работы 

 Экзаменационная работа по английскому языку состоит из четырёх 

разделов (аудирование, чтение, грамматика и лексика, письмо), 

включающих в себя 40 заданий.  

 На выполнение экзаменационной работы отводится 3 часа (180 

минут).  

 Ответы к заданиям 3–9, 12–18 и 32–38 записываются по 

приведённому ниже образцу в виде одной цифры, которая соответствует 

номеру правильного ответа. Эту цифру запишите в поле ответа в тексте 

работы, а затем перенесите в бланк ответов № 1. 

 
 Ответы к заданиям 1, 2, 10, 11 записываются по приведённому 

ниже образцу в виде последовательности цифр. Эту последовательность 

цифр запишите в поле ответа в тексте работы, а затем перенесите в бланк 

ответов № 1. 

 
 Ответы к заданиям 19–31 записываются по приведённому ниже 

образцу в виде слова (нескольких слов). Ответ запишите в поле ответа в 

тексте работы, а затем перенесите в бланк ответов № 1. 

 
 Раздел 4 («Письмо») состоит из 2 заданий (39 и 40) и представляет 

собой небольшую письменную работу (написание личного письма и 

письменного высказывания с элементами рассуждения). В бланке ответов 

№ 2 укажите номер задания и запишите ответ к нему.  

 Все бланки ЕГЭ заполняются яркими чёрными чернилами. 

Допускается использование гелевой, или капиллярной, или перьевой ручек.  

 При выполнении заданий можно пользоваться черновиком. Записи 

в черновике не учитываются при оценивании работы.  

 Баллы, полученные Вами за выполненные задания, суммируются. 

Постарайтесь выполнить как можно больше заданий и набрать наибольшее 

количество баллов.  

Желаем успеха! 

Установите соответствие между текстами A–G и заголовками 1–8. 

Занесите свои ответы в таблицу. Используйте каждую цифру только 

один раз. В задании один заголовок лишний. 

 

1. A taste of everything 

2. Shop till you drop 

3. City's tourist attractions 

4. Ancient traditions live on 

5. Activities for the adventurous and hardy 

6. On the crossroads of religions 

7. For the body, mind and soul 

8. From the high peaks to the deep seas 

 

A. Today Jakarta has much to offer, ranging from museums, art and 

antique markets, first class shopping to accommodations and a wide 

variety of cultural activities. Jakarta's most famous landmark, the 

National Monument or Monas is a 137m obelisk topped with a flame 

sculpture coated with 35 kg of gold. Among other places one can mention 

the National museum that holds an extensive collection of ethnographic 

artifacts and relics, the Maritime Museum that exhibits Indonesia's 

seafaring traditions, including models of sea going vessels. 

B. Sumatra is a paradise for nature lovers, its national parks are the 

largest in the world, home to a variety of monkeys, tigers and elephants. 

Facing the open sea, the western coastline of Sumatra and the waters 

surrounding Nias Island have big waves that make them one of the best 

surfer's beaches in Indonesia. There are beautiful coral reefs that are ideal 

for diving. For those who prefer night dives, the waters of Riau 

Archipelago offer a rewarding experience with marine scavengers of the 

dark waters. 

C. Various establishments offer professional pampering service with 

floral baths, body scrubs, aromatic oils, massages and meditation; rituals 

and treatments that use spices and aromatic herbs to promote physical and 

mental wellness. Various spa hotels are extremely popular. Indonesians 

believe that when treating the body you cure the mind. 
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D. Jakarta has a distinctly cosmopolitan flavor. Tantalize your taste buds 

with a gastronomic spree around the city's many eateries. Like French 

gourmet dining, exotic Asian cuisine, American fast food, stylish cafes, 

restaurants all compete to find a way into your heart through your 

stomach. The taste of Indonesia's many cultures can be found in almost 

any corner of the city: hot and spicy food from West Sumatra, sweet 

tastes of Dental Java, the tangy fish dishes of North Sulawesi. 

E. In the face of constant exposure to modernization and foreign 

influences, the native people still faithfully cling to their culture and 

rituals. The pre-Hindu Bali Aga tribe still maintains their own traditions 

of architecture, pagan religion, dance and music, such as unique rituals of 

dances and gladiator-like battles between youths. On the island of Siberut 

native tribes have retained their Neolithic hunter-gathering culture. 

F. Whether you are a serious spender or half hearted shopper, there is 

sure to be something for everybody in Jakarta. Catering to diverse tastes 

and pockets, the wide variety of things you can buy in Jakarta is mind 

boggling from the best of local handicrafts to haute couture labels. 

Modern super and hyper markets, multi-level shopping centers, retail and 

specialty shops, sell quality goods at a competitive price. Sidewalk 

bargains range from tropical blooms of vivid colors and scents in 

attractive bouquets to luscious fruits of the seasons. 

G. The land's long and rich history can't be separated from the influence 

of Hinduism, Buddhism, Islam and Christianity. There is one of the 

oldest Hindu temples in Java, the majestic Buddhist 'monastery on the 

hill', Borobudur, the largest Buddhist monument in the world. About 17 

km away from this monastery is a 9th century temple complex built by 

the San jay a dynasty. Prambanan complex is dedicated to the Hindu 

trinity: Ciwa, Vishnu and Brahma. The spread of Islam also left 

interesting monuments such as the 15th century Minaret Mosque in 

Kudus. 

 

  

Ответ: 

A B C D E F G 

       

Прочитайте текст и заполните пропуски A–F частями 

предложений, обозначенными цифрами 1–7. Одна из частей в списке 

1–7 лишняя. Занесите цифры, обозначающие соответствующие 

части предложений, в таблицу. 

 

                                  *** 

Before the Hubble Space Telescope was launched, scientists thought they 

knew the universe. They were wrong. 

The Hubble Space Telescope has changed many scientists' view of the 

universe. The telescope is named for American astronomer Edwin 

Hubble, A_______________________ . He established that many 

galaxies exist and developed the first system for their classifications. 

In many ways, Hubble is like any other telescope. 

It simply gathers light. It is roughly the size of a large school bus. What 

makes Hubble special is not what it is, B_______________________ . 

Hubble was launched in 1990 from the "Discovery" space shuttle and it is 

about 350 miles above, our planet, C_______________________ . It is 

far from the glare of city lights, it doesn't have to look through the air, 

D_______________________. And what a view it is! 

Hubble is so powerful it could spot a fly on the moon. Yet in an average 

orbit, it uses the same amount of energy as 28 100-watt light bulbs. 

Hubble pictures require no film. The telescope takes digital images 

E_______________________. Hubble has snapped photos of storms on 

Saturn and exploding stars. Hubble doesn't just focus on our solar system. 

It also peers into our galaxy and beyond. Many Hubble photos show the 

stars that make up the Milky Way galaxy. A galaxy is a city of stars. 

Hubble cannot take pictures of the sun or other very bright objects, 

because doing so could "fry" the telescope's instruments, but it can detect 

infrared and ultraviolet light F_______________________ . Some of the 

sights of our solar system that Hubble has glimpsed may even change the 

number of planets in it. 

1. which is above Earth s atmosphere. 

2. which are transmitted to scientists on Earth. 

3. which is invisible to the human eye. 

4. who calculated the speed at which galaxies move. 
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5. so it has a clear view of space. 

6. because many stars are in clouds of gas. 

7. but where it is. 

 

 

Ответ: 

A B C D E F 
      

 

Прочитайте текст и выполните задания 12–18. В каждом задании 

запишите в поле ответа цифру 1, 2, 3 или 4, соответствующую 

выбранному Вами варианту ответа. 

 

                                                    *** 

 Whilst travelling in 2001, I had my first but definitely not last, go at 

snowboarding. Rhona and I went to the Cardona ski resort, a couple of 

hours from Queenstown in New Zealand. We had been staying in 

Queenstown for a couple of weeks and had tried a couple of the local ski-

resorts. They had been so popular, that there was almost no room to play. 

The problem for me with this was that with so many people moving 

around me, my eyes were constantly re-focusing. This meant that I 

couldn't see a thing! As I had never snowboarded before, we decided that 

it was going to be a problem. A guy at one of the local ski rental shops 

recommended that we should try Cardona. 

On arrival I went straight to the Ski Patrol and explained my situation. 

They suggested that I should wear a vest, that they supplied, with the 

words "BLIND SKIER" on the front and back on top of my jacket. They 

told me that this was more for the benefit of the other skiers around me. I 

must admit, I wasn't very keen to do this, but thought I would give it a 

try. 

Once onto the slopes, I put my vest on and began to practise my limited 

skills. Because I had done some other board sports, i. e. skateboarding, 

surfing, etc., it wasn't too hard to learn the basics. Once I was 

comfortable with this, I headed off for the ski lift and the big slopes. As I 

stood in the queue I could hear people talking about that "poor blind 

guy". This niggled me a bit, but I decided to try to ignore it. At the top of 

the lift I stepped off and strapped my feet onto the board. 

As we headed off I could hear more people talking about the vest. I was 

starting to get paranoid. Then as I gathered speed and Rhona would shout 

directions, I realized that the people who saw the vest were getting out of 

my way. Fantastic! This was better than a white stick in a crowd. We 

picked up speed turning left, then right, hitting a few bumps, but mainly 

going really well. I even managed to control the snowboard. Well, sort of 

control it. Before I knew it, we had zipped down a long straight slope and 

had come to the end of the run. The adrenaline was buzzing and I was 

"high as a kite". What a feeling! I got back on the ski lift and headed back 

up. This time I was going to do the run solo! 

I had memorized the slope from my first run and felt very confident. As I 

came off the lift, I rushed to get started. Again, I could hear people 

talking about me, but now it didn't matter. The vest was a definite benefit 

for the novice snowboarder! I took the first stage at a steady pace, 

looking for my first left bend. No problems there. I found that easy 

enough. I was now looking for my fast approaching right bend. I missed 

this one completely and ended up in the safety netting at the edge of the 

run. 

At this point, I decided I was not the world's best snowboarder and would 

have to take things a little slower. As the day progressed, so did my skills. 

1 had a great time. Even taking "air" on quite a few occasions. However, 

this was now deliberate! I was not very wary about that bend I had 

missed, so I started to take it a bit early. Unfortunately, this meant that I 

would leap about 2 meters into the air. And what was more surprising 

than being airborne, was the fact that on half a dozen occasions (out of 

about 30), I landed on my feet and carried on downhill. The rest of the 

time I fell on my bottom. I heard some people comment on how brave 

"that blind guy" was. Little did they know it was lack of skill rather than 

bravery. 

We boarded at Cardona for two days and had a fantastic time. Because it 

is a bit of a drive away from most of the tourist places, it is not as busy as 

the other ski resorts. It is mostly visited by the locals and I think that says 

something. If you get the chance, I would definitely recommend Cardona. 

I would also like to thank the Ski Patrol for that great suggestion. Without 

the vest, I am sure there could have been some crashes, caused by me. 

But with the vest, everyone just got out of the way. However, I think that 

if it was to get a vest for myself, it would probably read "BLIND & 

DAFT". 
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The narrator and his companion decided to choose the Cardona ski resort 

because 

 

1) it was a short distance from Queenstown. 

2) they couldn't find a room at other resorts. 

3) somebody said that it was worth going to. 

4)   it was popular with snowboarders. 

 

Ответ:  

 

 The Ski Patrol suggested that the narrator should wear a vest in order to 

  

1) make it easier for them to locate the narrator in case of an accident. 

2) make the narrator feel more confident during his first go at 

snowboarding. 

3) keep an eye on him on the slope. 

4) prevent other people from colliding with him on the slopes. 

 

Ответ:  

 

 

When the narrator was standing in the queue he 

 

1) felt annoyed by people's comments. 

2) felt comfortable in his vest. 

3) tried to focus his eyes on the track. 

4) tried to ignore his fear. 

 

Ответ:  

 

 

 

 

 

 

 

 

 "This" in "This was better than a white stick in the crowd" refers to 

1) the fact that people were getting out of the narrator's way. 

2) the narrator's moving at a high speed down the slope. 

3) the fact that Rhona was giving the narrator directions. 

4) the narrator's hearing more people talking about the vest. 
 

Ответ:  

  

 The narrator did the second run solo and he 

  

1)   tried to memorize all the bends. 

2)  failed to go round one of the bends. 

3) tried not to listen to Rhona's directions. 

4)  fell down and was injured. 

 

Ответ:  

 

The narrator believes that his successful leaps into the air and landing on 

his feet were due to 

1) his personal courage. 

2) people's encouragement. 

3) his intensive practicing. 

4) pure chance. 

 

Ответ:  

 

 The narrator recommends Cardona ski resort because 

 

1) of the Ski Patrol efficient service. 

2) skiers are supplied with vests there. 

3) it is less crowded than other places. 

4) here are few crashes on the slopes. 

 

Ответ:  

12 
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По окончании выполнения заданий 10–18 не забудьте перенести свои 

ответы в БЛАНК ОТВЕТОВ № 1! Запишите ответ справа от номера 

соответствующего задания, начиная с первой клеточки. При переносе 

ответов в заданиях 10 и 11 цифры записываются без пробелов, запятых и 

других дополнительных символов. Каждую цифру пишите в отдельной 

клеточке в соответствии с приведёнными в бланке образцами. 

 

 

Раздел 3. Грамматика и лексика 

Прочитайте приведённые ниже тексты. Преобразуйте, если необходимо, 

слова, напечатанные заглавными буквами в конце строк, обозначенных 

номерами 19–25, так, чтобы они грамматически соответствовали 

содержанию текстов. Заполните пропуски полученными словами. Каждый 

пропуск соответствует отдельному заданию из группы 19–25.  

 

                                 How curling emerged 

 Curling or «roaring stones» comes from Scotland. 

It __________________ there that the first time a heavy sports projectile 

was discovered. ( BE) 

 

  It__________________ at the beginning of the 16th century. Also 

curling is mentioned in the medieval chronicles of 1541. 

(MANUFACTURE) 
 

 After Scotland, curling began to become popular in the Netherlands, just 

like golf. The story __________________ that the «aisstock» game 

(Bavarian curling) was very popular among the peasants. This fact 

is confirmed by two works by artist P. Brueghel, written by him in 1565: 

he depicted the peasants playing curling. (GO) 

 

Thanks to the climate and cultural features, the game quickly took root 

in Canada and the United States. In the 1800s, the rules of curling 

__________________ . (STANDARDIZE) 

 

 Curling received its first name («a game of roaring stones»), because 

of the unpleasant sound, which was made by stones with notches while 

__________________  on ice. (MOVE) 

 

 The second name, familiar to everyone, comes from the Scottish verb 

curr («growl») — also because of the sound that the projectile emits 

during__________________. (PUSH) 

 

 

 The first curling association «The main curling club of Caledonia» 

appeared in Edinburgh in 1838. It was then that after standardizing the 

rules of the game, the granite projectile__________________ a modern 

shape. (ACQUIRE) 
 

Прочитайте приведённый ниже текст. Образуйте от слов, 

напечатанных заглавными буквами в конце строк, обозначенных 

номерами 26–31, однокоренные слова, так, чтобы они 

грамматически и лексически соответствовали содержанию текста. 

Заполните пропуски полученными словами. Каждый пропуск 

соответствует отдельному заданию из группы 26–31. 

                                                   Golf in Ireland 

Although Ireland provides, at present, some of the__________________ 

 golf courses in the world, the game’s origin lie in the ‘Kingdom of Fife’ 

in the neighbouring country of Scotland. (GOOD) 

 

 The game of Golf introduced in 1421,__________________ grew after 

introducing it to England by ‘King Charles I’. ( RAPID) 

 

 An interesting aspect of golf in Ireland, is that some of the oldest golf 

courses are still in__________________  . (EXIST) 

 

 It's a__________________ experience for people to play on the very 

greens on which Ireland saw the birth of this sport. (FASCINATE) 

 

 Today, Ireland ranks among the countries which offer 

the__________________ number of golf courses per capita and a quarter 

of all the ‘true links golf courses’ in the world also found in Ireland. 

(MORE) 
 

19 

20 

21 

22 

23 

24 

25 

26 

27 

28 

29 

30 
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 428 golf clubs function within the country, and a 

skilled__________________ may manage to strike a ball into one of the 

7,119 golf holes located around the land. (GOLF) 

 
 

Прочитайте текст с пропусками, обозначенными номерами 32–38. 

Эти номера соответствуют заданиям 32–38, в которых 

представлены возможные варианты ответов. Запишите в поле 

ответа цифру 1, 2, 3 или 4, соответствующую выбранному Вами 

варианту ответа. 

 

                                       *** 

Britain in winter is not a sunny place. And our levels of vitamin D, the 

“sunshine vitamin” produced by the action of light on skin, tend to run 

low. The government is now recommending that we all take a daily 

supplement throughout the winter. But do we really need it?  

 

Vitamin D is essential for (32) _______  bones, teeth and muscles. 

Around one in five adults have low levels throughout the year. Severe 

deficiency is much rarer, but can result (33) _______  rickets in kids and 

osteomalacia in kids and adults, which cause bone deformity and pain. 

Vitamin D also plays an important role in the immune system. Low levels 

have been (34) _______  to cancers, multiple sclerosis and heart disease. 

A recent report by the Scientific Advisory Committee on Nutrition 

(SACN) said there isn’t enough evidence (35) _______  to draw any firm 

conclusions about these links.  

 

Most of us get a bit low (36)_______  vitamin D in the winter months but 

some groups are at risk of more serious deficiency. The at-risk groups 

include: pregnant women; children under five (because they need more 

vitamin D for bone growth); anyone who doesn’t get (37) 

_______  exposure to sun; people over 65 who are frail and, (38) 

_______ a varied diet or opportunity to get outdoors much; and people 

with darker skin tones, which block UV rays more effectively than paler 

ones. 

 

1)healthy  2)full             3)  wholesome               4) useful 

  

Ответ:  

 

 

1)for             2)to                 3)on                              4)in 

 

Ответ:  

 

 

1) connected    2) linked       3)led               4) related 

 

Ответ:  

 

 

1)just            2)still                    3)even                 4)yet 

 

Ответ:  

 

 

1) in              2) of                          3) for                   4) in 

 

Ответ:  

 

 

1) much 2) many                   3) little          4) few 

 

Ответ:  

 

 

1) miss   2) lack   3) ignore       4) run out of 
 

Ответ:  

 

 

31 

32 

33 

34 

35 

36 

37 

38 
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По окончании выполнения заданий 19–38 не забудьте перенести свои 

ответы в БЛАНК ОТВЕТОВ № 1! Запишите ответ справа от номера 

соответствующего задания, начиная с первой клеточки. При переносе 

ответов в заданиях 19–31 буквы записываются без пробелов, запятых и 

других дополнительных символов. Каждую букву или цифру пишите в 

отдельной клеточке в соответствии с приведёнными в бланке 

образцами. 

 

 

Раздел 4. Письмо 

 

Для ответов на задания 39 и 40 используйте бланк ответов № 2. 

Черновые пометки могут делаться прямо на листе с заданиями, или 

можно использовать отдельный черновик. При выполнении заданий 39 

и 40 особое внимание обратите на то, что Ваши ответы будут 

оцениваться только по записям, сделанным в БЛАНКЕ ОТВЕТОВ № 2. 

Никакие записи черновика не будут учитываться экспертом. 

Обратите внимание также на необходимость соблюдения указанного 

объёма текста. Тексты недостаточного объёма, а также часть 

текста, превышающая требуемый объём, не оцениваются. Запишите 

сначала номер задания (39, 40), а затем ответ на него. Если одной 

стороны бланка недостаточно, Вы можете использовать другую его 

сторону. 

 

You have received a letter from your English-speaking pen-friend Mary 

who writes: 
 

… A "green club" has just been organized at our school. We're choosing a 

name for it. What name would you suggest for our "green club"? Would you 

like to have a "green club" at your school and why? Which projects do you 

think "green clubs" could deal with? 

My dad is going to start a new business … 

 

Write a letter to Mary.  

In your letter   

− answer her questions  

− ask 3 questions about her dad's new business 

Write 100–140 words.  

Remember the rules of letter writing. 

 

Comment on the following statement.  

 

 Clothes that people wear influences their behavior. 

What is your opinion? Do you agree with this statement?  

Write 200–250 words.  

Use the following plan:  

– make an introduction (state the problem)  

– express your personal opinion and give 2–3 reasons for your opinion  

– express an opposing opinion and give 1–2 reasons for this opposing 

opinion  

– explain why you don’t agree with the opposing opinion  

– make a conclusion restating your position 
 

 

 

 

 

 

 

 

 

 

Источники: 

 

1) https://ege.yandex.ru 

2) https://lengish.com/tests/ege-8.html 

3) https://neznaika.pro/ege/english/ 

39 

40 

 

О проекте «Пробный ЕГЭ каждую неделю» 

Данный ким составлен командой всероссийского волонтёрского проекта 

«ЕГЭ 100 баллов» https://vk.com/ege100ballov и безвозмездно 

распространяется для любых некоммерческих образовательных целей. 

 

Нашли ошибку в варианте? 

Напишите нам, пожалуйста, и мы обязательно её исправим! 

Для замечаний и пожеланий: https://vk.com/topic-10175642_35994898  

(также доступны другие варианты для скачивания) 

 

http://vk.com/ege100ballov
http://vk.com/english_100/2016kim01
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4) текст: https://tv-english.club/articles-en/discover-great-britain-en/golf-in-

ireland-among-the-greens/ 

5) текст: https://tv-english.club/articles-en/entertainment/curling-in-the-uk-

the-history-of-origin/ 

Ответы 

Раздел 2. Чтение 

№ задания Ответ 

10 3571426 

11 471523 

12 3 

13 4 

14 1 

15 1 

16 2 

17 4 

18 3 

 

Раздел 3. Грамматика и лексика
*
 

№ задания Ответ 

19 WAS 

20 WASMANUFACTURED 

21 GOES 

22 WERESTANDARDIZED 

23 MOVING 

24 PUSHING 

25 ACQUIRED 

26 BEST 

27 RAPIDLY 

28 EXISTENCE 

29 FASCINATING 

30 MOST 

31 GOLFER 

32 1 

33 4 

                                                           
*
Написание ответов (без пробелов и знаков препинания) соответствует 

инструкции ФЦТ по заполнению бланка ответов № 1 

34 2 

35 4 

36 1 

37 1 

38 2 

 

Критерии и схемы оценивания выполнения заданий 

раздела «Письмо» (2018 год)  

(максимум 20 баллов за весь раздел) 

 

Критерии оценивания выполнения задания 39 

(максимум 6 баллов) 

 

Баллы Решение 

коммуникативной 

задачи 

Организация 

текста 

Языковое 

оформление текста 

 К1 К2 К3 

2 Задание выполне- 

но полностью: 

содержание отража- 

ет все аспекты, 

указанные в за- 

дании (даны пол- 

ные и точные 

ответы на все 

вопросы, заданы 

правильно три 

вопроса по ука- 

занной теме); сти- 

левое оформление 

речи выбрано 

правильно с учётом 

цели высказывания 

и адресата; соблю- 

дены принятые в 

языке нормы веж- 

ливости (допуска- 

ется 1 неполный 

или неточный 

аспект) 

Высказывание ло- 

гично; средства 

логической связи 

использованы пра- 

вильно; текст 

верно разделён на 

абзацы; 

структурное офор- 

мление текста 

соответствует нор- 

мам, принятым в 

стране изучаемого 

языка 

(допускается 

1 логическая 

ошибка 

ИЛИ 1 нарушение 

деления на абзацы 

ИЛИ 1 нарушение 

в средствах 

логической 

связи ИЛИ 1 

нарушение 

принятых норм 

Используемый сло- 

варный запас и 

грамматические 

структуры соот- 

ветствуют базовому 

уровню сложности 

задания; орфогра- 

фические и пунк- 

туационные ошибки 

практически 

отсутст- 

вуют (допускаются 

1-2 лексико-грам- 

матические ошибки 

И/ИЛИ 1-2 орфо- 

графические и 

пунктуационные 

ошибки) 

http://vk.com/ege100ballov
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оформления 

личного письма) 

1 Задание выполне- 

но не полностью: 

содержание отра- 

жает не все 

аспекты, указанные 

в задании, ИЛИ 2-4 

аспекта раскрыты 

не полностью или 

неточно (все слу- 

чаи, не указанные в 

оценивании на 

2 балла и 0 баллов)  

Высказывание не 

всегда логично; 

имеются ошибки в 

использовании 

средств 

логической 

связи, И/ИЛИ в 

делении текста на 

абзацы И/ИЛИ в 

оформлении 

личного письма 

(все случаи, не 

указанные 

в оценивании на 

2 балла и 0 

баллов) 

Используемый сло- 

варный запас и 

грамматические 

структуры не 

полностью соот- 

ветствуют базовому 

уровню сложности 

задания: имеются 3-

4 лексико-грамма- 

тические ошибки 

И/ИЛИ имеются 3-4 

орфографические и 

пунктуационные 

ошибки  

0 Задание не выпол- 

нено: 3 и более 

аспектов содержа- 

ния отсутствуют, 

ИЛИ 5 аспектов 

раскрыты не пол- 

ностью или 

неточно, ИЛИ ответ 

не соответствует 

требуемому объёму 

Имеются 3 и более 

логические 

ошибки, 

ИЛИ имеются 3 и 

более нарушений 

в средствах 

логической 

связи, ИЛИ 

деление 

текста на абзацы 

отсутствует, ИЛИ 

имеются 3 и более 

нарушения 

принятых 

норм оформлен 

Используемый сло- 

варный запас и 

грамматические 

структуры не 

соответствуют 

базовому уровню 

сложности задания: 

имеются 5 и более 

лексико-граммати- 

ческих ошибок 

И/ИЛИ 5 и более 

орфографических и 

пунктуационных 

ошибок 

Примечание. При получении экзаменуемым 0 баллов по критерию 

«Решение коммуникативной задачи» всё задание оценивается в 0 баллов. 

 

 

 

 

 

 

Критерии оценивания выполнения задания 40  

(максимум 14 баллов)  

 

Баллы Решение 

коммуникативной задачи 

Организация текста 

 К1 К2 

3 Задание выполнено пол- 

ностью: содержание 

отражает полно и точно все 

аспекты, указанные в 

задании; стилевое 

оформление речи выбрано 

правильно (допускается 

1 нарушение нейтрального 

стиля) 

Высказывание логично; средства 

логической связи использованы 

правильно; структура текста 

соответствует предложенному 

плану; текст правильно разделён 

на абзацы 

2 Задание выполнено в 

основном: но 1-2 аспекта 

содержания, указанные в 

задании, раскрыты не пол- 

ностью или неточно; 

стилевое оформление речи в 

основном правильно 

(допускается 2-3 нарушения 

нейтрального 

стиля) 

Высказывание в основном 

логично (имеются 1-2 

логические ошибки), И/ИЛИ 

имеются 1-2 недостатка при 

использовании средств 

логической связи, И/ИЛИ 

имеются 1-2 отклонения от 

плана в структуре высказывания, 

И/ИЛИ имеются 1-2 недостатка 

при деле- 

нии текста на абзацы 

1 Задание выполнено не 

полностью: в содержании 

не раскрыты 1-2 аспекта или 

3-4 аспекта содержания 

раскрыты неполно или 

неточно; имеются ошибки в 

стилевом оформлении речи 

В высказывании имеются 3-4 

логические ошибки, И/ИЛИ 

имеются 3-4 ошибки в ис- 

пользовании средств логической 

связи, И/ИЛИ имеются 3-4 

отклонения от предложенного 

плана; имеются 3-4 недостатка в 

делении текста на абзацы 

0 Задание не выполнено: в 

содержании не раскрыты 3 и 

более аспектов, ИЛИ все 

аспекты раскрыты неполно 

или неточно; ИЛИ ответ не 

соответствует требуемому 

объёму, ИЛИ более 30% 

ответа имеет 

В высказывании имеются 5 и 

более логических ошибок, 

И/ИЛИ имеются 5 и более 

ошибок в использовании средств 

логической связи, И/ИЛИ 

предложенный план ответа 

полностью не соблюдается, 

И/ИЛИ деление текста на абзацы 

http://vk.com/ege100ballov
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непродуктивный 

характер (т.е. текстуально 

совпадает с 

опубликованным 

источником) 

отсутствует 

 

Баллы Лексика Грамматика Орфография и 

пунктуация 

 К1 К2 К3 

3 Используемый 

словарный запас 

соответствует 

высокому уровню 

сложности задания; 

практически нет 

нарушений в исполь- 

зовании лексики 

(допускается 1 

лексическая ошибка) 

Используемые 

грам- 

матические 

средства 

соответствуют 

высокому уровню 

сложности 

задания, 

нарушений 

практи- 

чески нет 

(допуска- 

ются 1-2 не 

повторя- 

ющиеся граммати- 

ческие ошибки) 

 

2 Используемый сло- 

варный запас 

соответствует высо- 

кому уровню слож- 

ности задания, 

однако встречаются 

2-3 лексические 

ошибки, ИЛИ 

словарный запас 

ограничен, но 

лексика использована 

правильно 

Используемые 

грамматические 

средства 

соответст- 

вуют высокому 

уровню сложности 

задания, однако в 

тексте имеются 3-4 

грамматические 

ошибки 

Орфографические 

ошибки 

практически 

отсутствуют. 

Текст разделён на 

предложения с 

правильным 

пунктуационным 

оформлением 

(допускаются 1 

орфографическая 

И/ИЛИ 

1 пунктуационная 

ошибка) 

1 Используемый сло- 

варный запас не 

вполне соответст- 

Используемые 

грамматические 

средства не вполне 

В тексте имеются 

2-4 орфографи- 

ческие И/ИЛИ 

вует высокому 

уровню сложности 

задания, в тексте 

имеются 4 лекси- 

ческие ошибки 

соответствуют 

высокому уровню 

сложности 

задания, 

в тексте имеются 

5-7 

грамматических 

ошибок 

пунктуационные 

ошибки 

0 Используемый 

словарный запас 

не соответствует 

высокому уровню 

сложности задания, 

в тексте имеются 5 

и более лексических 

ошибок 

Используемые 

грамматические 

средства не 

соответствуют 

высокому 

уровню сложности 

задания, имеются 

8 и более 

грамматических 

ошибок 

В тексте имеются 

5 и более 

орфографических 

И/ИЛИ 

пунктуационных 

ошибок 

 

Примечание. Критерий «Орфография и пунктуация» в разделе «Письмо»  

оценивается в 2 балла. При получении экзаменуемым 0 баллов по критерию  

«Решение коммуникативной задачи» всё задание оценивается в 0 баллов.  

 

 

Порядок определения процента текстуальных совпадений 

в задании 40 

 

 При оценивании задания 40 (развёрнутое письменное 

высказывание с элементами рассуждения) особое внимание уделяется 

способности экзаменуемого продуцировать развёрнутое письменное 

высказывание. Если более 30% ответа имеет непродуктивный характер (т.е. 

текстуально совпадает с опубликованным источником), то выставляется 0 

баллов по критерию «Решение коммуникативной задачи», и, 

соответственно, всё задание оценивается в 0 баллов.  

 Текстуальным совпадением считается дословное совпадение 

отрезка письменной речи длиной 10 слов и более.  

 Выявленные текстуальные совпадения суммируются, и при 

превышении ими 30% от общего количества слов в ответе работа 

оценивается в 0 баллов. 
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Порядок подсчёта слов в заданиях раздела «Письмо» 

 

 При оценивании заданий раздела «Письмо» (39, 40) следует 

учитывать такой параметр, как объём письменного текста, выраженный в 

количестве слов. Требуемый объём для личного письма в задании 39 – 100–

140 слов; для развёрнутого письменного высказывания в задании 40 – 200–

250 слов. Допустимое отклонение от заданного объёма составляет 10%. 

Если в выполненном задании 39 менее 90 слов или в задании 40 менее 180 

слов, то задание проверке не подлежит и оценивается в 0 баллов. При 

превышении объёма более чем на 10%, т.е. если в выполненном задании 39 

более 154 слов или в задании 40 более 275 слов, проверке подлежит только 

та часть работы, которая соответствует требуемому объёму. Таким 

образом, при проверке задания 39 отсчитывается от начала работы 140 

слов, задания 40 – 250 слов, и оценивается только эта часть работы.  

 При определении соответствия объёма представленной 

работывышеуказанным требованиям считаются все слова, с первого слова 

по последнее, включая вспомогательные глаголы, предлоги, артикли, 

частицы. В личном письме адрес, дата, подпись также подлежат подсчёту. 

При этом:  

− стяжённые (краткие) формы can't, didn't, isn't, I'm и т.п. считаются 

какодно слово;  

− числительные, выраженные цифрами, т.е. 1, 25, 2009, 126 204 и т.п., 

считаются как одно слово;  

− числительные, выраженные цифрами, вместе с условным обозначение 

процентов, т.е. 25%, 100% и т.п., считаются как одно слово;  

− числительные, выраженные словами, считаются как слова;  

– сложные слова, такие как good-looking, well-bred, English-speaking, twenty-

five, считаются как одно слово;  

− сокращения, например USA, e-mail, TV, CD-rom, считаются как одно 

слово.  

 

 

 

 

 

 

 

 

 

Порядок проверки ответов на задания с развёрнутым ответом 

и назначения третьего эксперта 

 

 В соответствии с Порядком проведения государственной итоговой 

аттестации по образовательным программам среднего общего образования 

(приказ Минобрнауки России от 26.12.2013 № 1400 зарегистрирован 

Минюстом России 03.02.2014 № 31205)  

 «61. По результатам первой и второй проверок эксперты 

независимо друг от друга выставляют баллы за каждый ответ на задания 

экзаменационной работы ЕГЭ с развёрнутым ответом...  

 62. В случае существенного расхождения в баллах, выставленных 

двумя экспертами, назначается третья проверка. Существенное 

расхождение в баллах определено в критериях оценивания по 

соответствующему учебному предмету.  

 Эксперту, осуществляющему третью проверку, предоставляется 

информация о баллах, выставленных экспертами, ранее проверявшими 

экзаменационную работу».  

 1.Если расхождение сумм баллов, выставленных двумя экспертами 

за задание 39 по всем (трём) позициям оценивания данного задания, 

составляет 3 и более балла, то третий эксперт выставляет баллы по всем 

трём позициям оценивания задания 39.  

 2. Если расхождение сумм баллов, выставленных двумя 

экспертами за задание 40 по всем (пяти) позициям оценивания данного 

задания, составляет 5 и более баллов, то третий эксперт выставляет баллы 

по всем пяти позициям оценивания задания 40.  

 

http://vk.com/ege100ballov
http://vk.com/english_100/2016kim01

